
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(vDrwcj eSx”khu tk¡p ijh{kk)
fnukad& 09-10-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 çorZu funs'kky; ds oS/kfud dk;ks± ds varxZr fuEufyf[kr 
esa ls dkSu&ls vf/fu;eksa dk çorZu 'kkfey gS\

	 1.	 /u 'kks/u fuokj.k vf/fu;e] 2002
	 2.	 fons'kh eqæk çca/u vf/fu;e] 1999
	 3.	 HkxksM+k vkfFkZd vijk/h vf/fu;e] 2018
	 4.	 dksiQsikslk (COFEPOSA) ds varxZr çk;kstd 

,tsalh

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 4 vkSj 5
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1] 3 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 2.	 lalnh; fo'ks"kkf/dkjksa ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g vesfjdk ds gkml vkWiQ fjçstsaVsfVOl ds lnL;ksa 
dks çkIr vf/dkjksa ls çsfjr gSA

	 2.	 laln }kjk bu fo'ks"kkf/dkjksa dks lafgrkc¼ djus 
ds laca/ esa fo'ks"k dkuwu cuk;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 3.	 lkewfgd fo'ks"kkf/dkj ds varxZr fuEufyf[kr esa ls 
dkSu&lk@ls 'kkfey gS@gSa\

	 1.	 U;k;ky; dks laln ds fdlh lnu ;k mldh 
lfefr;ksa dh dk;Zokgh dh tk¡p djus ls eukgh gSA

	 2.	 vfrfFk;ksa dks viuh dk;Zokgh ls ckgj djus dk 
vf/dkj

	 3.	 laln l=k ds nkSjku fdlh U;k;ky; esa mifLFkr 
gksus ls badkj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	 1 vkSj 3

	 4.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 tfLVl ds.,l. iqV~VLokeh (lsokfuo`Ùk) cuke Hkkjr 
la?k ekeyk futrk ds vf/dkj ls lacaf/r gSA

	 2.	 futrk dk vf/dkj thou ds vf/dkj dk fgLlk gSA
	 3.	 JhÑ".k lfefr dk laca/ O;fDrxr MsVk laj{k.k 

elkSnk fo/s;d ls gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 1.	 The statutory functions of the Enforcement 
Directorate include enforcement of which of the 
following Acts?

	 1.	 Prevention of Money Laundering Act, 2002
	 2.	 Foreign Exchange Management Act, 1999
	 3.	 Fugitive Economic Offenders Act, 2018
	 4.	 Sponsoring Agency under COFEPOSA

		  Select the correct answer using the code given 
below :

	 (a)	 1, 2, 4 and 5	
	 (b)	 2 and 3 only
	 (c)	 1, 3 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 2.	 With reference to parliamentary privileges, 

consider the following statements:
	 1.	 It is inspired by the rights enjoyed by the 

members of the US House of Representatives.
	 2.	 Special legislation has been enacted by 

Parliament with regard to codification of 
these privileges.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 3.	 Which of the following is/are included under 

collective privilege?
	 1.	 The court is forbidden to inquire into the 

proceedings of either House of Parliament or 
its committees.

	 2.	 Right to exclude guests from their 
proceedings.

	 3.	 Refusal to appear in any court during 
parliament session.

		  Choose the correct answer using the code given 
below:

	 (a)	 1 only	 (b)	 1 and 2
	 (c)	 2 and 3	 (d)	 1 and 3
	 4.	 Consider the following statements:
	 1.	 Justice K.S. Puttaswamy (Retd.) vs Union of 

India deals with the right to privacy.
	 2.	 The right to privacy is part of the right to life.
	 3.	 The Srikrishna Committee deals with the 

draft Personal Data Protection Bill.
		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 5.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fdlh {ks=k dks fnu ds fdlh Hkh le;] ,d Hkh 
O;fDr [kqys esa 'kkSp ugha djrk gS rks mls vksMh,iQ 
Iyl (ODF+) ?kksf"kr fd;k tk ldrk gSA

	 2.	 fdlh fnu fdlh Hkh O;fDr dks [kqys esa 'kkSp 
vkSj is'kkc djrs gq, ugha ik;k tkrk gS vkSj lHkh 
lkeqnkf;d rFkk lkoZtfud 'kkSpky; dk;kZRed 
voLFkk esa ,oa lqO;ofLFkr gSa rks ,sls 'kgj dks 
vksMh,iQ Iyl Iyl (ODF++) ?kksf"kr fd;k tk 
ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 6.	 lhek 'kqYd (O;kikj le>kSrksa ds rgr ewy fu;eksa dk 
ç'kklu) fu;e (CAROTAR)] 2020 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blesa eqDr O;kikj le>kSrksa ds rgr vk;kr ij 
çkFkfedrk nj dh vuqefr ds fy;s ^ewy@vksfjftu 
ds fu;eksa* dks ykxw djus ds fy;s fn'kk&funZs'k 
fu/kZfjr fd;s gSaA

	 2.	 os fofHkUu O;kikj le>kSrksa ds rgr fu/kZfjr ekStwnk 
ifjpkyu çek.ku çfØ;kvksa ds iwjd gSaA

	 3.	 blds rgr vk;krdksa dks ;g lkfcr djuk gksxk 
fd vk;kfrr mRiknksa dk ewy ns'kksa esa de ls de 
35% ewY;o¼Zu gqvk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 7.	 ç/kuea=kh vkfn vkn'kZ xzke ;kstuk ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g jkT; tutkrh; mi&;kstuk (TSP) esa vfrfjDr 
ds :i esa fo'ks"k dsaæh; lgk;rk çnku djds 
tutkrh; yksxksa ds fodkl ,oa dY;k.k ds fy;s 
jkT; ljdkjksa ds ç;klksa dk iwjd gSA

	 2.	 bldk mn~ns'; dsaæh; vuqlwfpr tutkfr ?kVd esa 
fofHkUu ;kstukvksa ds rgr miyC/ /u ds ekè;e 
ls çeq[krk ds lkFk tutkrh; vkcknh okys xk¡oksa 
esa lqfo/kvksa rFkk O;oLFkkvksa ds varjky dks de 
djuk vkSj cqfu;knh <k¡pk çnku djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 5.	 Consider the following statements:
	 1.	 An area can be declared ODF Plus (ODF+) 

if not a single person defecates in the open at 
any time of the day.

	 2.	 On some day, if no person is found 
defecating and urinating in the open and all 
community and public toilets are functional 
and well,such a city can be declared ODF 
plus plus (ODF++).

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2
	 6.	 With reference to the Customs (Administration of 

Rules of Origin under Trade Agreements) Rules 
(CAROTAR), 2020, consider the following 
statements:

	 1.	 It lays down guidelines for enforcement of 
'Rules of Origin/Origin' to allow priority 
rates on imports under free trade agreements.

	 2.	 They complement the existing operational 
certification procedures laid down under 
various trade agreements.

	 3.	 Under this, importers will have to prove that 
imported products have added at least 35% 
value in the countries of origin.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 7.	 Consider the following statements with reference 

to Pradhan Mantri Adi Adarsh Gram Yojana:
	 1.	 This state complements the efforts of the 

State Governments for the development and 
welfare of tribal people by providing special 
central assistance as an addition to the Tribal 
Sub-Plan (TSP).

	 2.	 It aims at bridging the gaps in facilities and 
arrangements and providing infrastructure 
in villages with predominantly tribal 
population through funds available under 
various schemes in the Central Scheduled 
Tribes component.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	 8.	 ihvkj,l ysftLysfVo fjlpZ }kjk ^jkT; dkuwuksa dh 
okf"kZd leh{kk] 2021* fjiksVZ ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 fo/kulHkk dh cSBdksa ds ekeys esa rfeyukMq dks 
o"kZ 2021 esa çFke LFkku çkIr gqvk gSA

	 2.	 bl fjiksVZ ds vuqlkj o"kZ 2021 esa lcls vf/d 
vè;kns'k dsjy jkT; us tkjh fd;sA

	 3.	 o"kZ 2021 esa ikfjr lHkh dkuwuksa esa ls 21 çfr'kr 
ds lkFk f'k{kk lokZsPp çkFkfedrk FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 3
	 (c)	 2 vkSj 3	 (d)	 1 vkSj 2

	 9.	 {ks=kh; xzkeh.k cSad ds lanHkZ esa fuEufyf[kr dFkuksa esa 
ls dkSu lk@ls lgh gS@gSa\

	 1.	 {ks=kh; xzkeh.k cSadksa (RRB) dh LFkkiuk cSafdax 
fofu;eu vf/fu;e] 1949 ds rgr dh xbZ FkhA

	 2.	 bls ujflage lfefr dh fliQkfj'k ds vk/kj ij 
LFkkfir fd;k x;kA

	 3.	 {ks=kh; xzkeh.k cSad dks vius lexz ½.k ds 75» 
ds lkFk çkFkfedrk okys {ks=kksa dks m/kj nsuk 
vfuok;Z gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 2 vkSj 3

	 10.	 vkWjsat bdksukWeh (jpukRed vFkZO;oLFkk) fuEufyf[kr 
esa ls fdls lanfHkZr djrk gS\

	 (a)	 ;g LFkkiR; dyk] n`';kRed vkSj fu"iknu dyk] 
f'kYi rFkk ohfM;ks xse tSls {ks=kksa dks lanfHkZr 	
djrk gSA

	 (b)	 ;g oLrqvksa vkSj lsokvksa ds mRiknu] forj.k vkSj 
[kir dh ç.kkyh gS] ftldk mn~ns'; o`¼ vkSj 
ofj"B yksxksa dh Ø; {kerk dk mi;ksx djuk vkSj 
muds miHkksx] thou vkSj LokLF; dh t:jrksa dks 
iwjk djuk gSA

	 (c)	 ;g vFkZO;oLFkk dks tSfod lalk/uksa ds mRiknu] 
mi;ksx vkSj laj{k.k ds :i esa lanfHkZr djrk gSA

	 (d)	 ;g vFkZO;oLFkk esa ckxokuh {ks=k ds egÙo dks 
lanfHkZr djrk gSA

	 11.	 fuEufyf[kr esa ls fdls dqtusV~l oØ }kjk ekik tkrk gS\

	 (a)	 tula[;k
	 (b)	 vk; vlekurk
	 (c)	 f'k{kk çn'kZu
	 (d)	 csjks”kxkjh

	 8.	 Consider the following statements with reference 
to the report 'Annual Review of State Laws, 2021' 
by PRS Legislative Research:

	 1.	 Tamil Nadu has been ranked first in the year 
2021 in terms of assembly meetings.

	 2.	 According to this report, the highest number 
of ordinances were issued by the state of 
Kerala in the year 2021.

	 3.	 Education was the top priority with 21 per 
cent of all laws passed in 2021.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 3 only
	 (c)	 2 and 3	 (d)	 1 and 2
	 9.	 Which of the following statement(s) is/are correct 

with respect to Regional Rural Bank?
	 1.	 Regional Rural Banks (RRBs) were 

established under the Banking Regulation 
Act, 1949.

	 2.	 It was set up on the basis of the 
recommendation of the Narasimham 
Committee.

	 3.	 Regional Rural Banks are mandated to lend 
to priority sectors with 75% of their overall 
credit.

		  Select the correct answer using the code given 
below:

	 (a)	 1 only	 (b)	 1 and 2
	 (c)	 3 only	 (d)	 2 and 3
	 10.	 Orange Economy refers to which of the following?
	 (a)	 It refers to areas such as architecture, visual 

and execution arts, crafts and video games.
	 (b)	 It is the system of production, distribution 

and consumption of goods and services that 
aims to harness the purchasing capacity 
of old and senior people and meet their 
consumption, life and health needs.

	 (c)	 It refers to the economy as the production, 
use, and conservation of biological resources.

	 (d)	 This refers to the importance of the 
horticulture sector in the economy.

	 11.	  Which of the following is measured by the Kuznets 
curve?

	 (a)	 Population
	 (b)	 Income inequality 
	 (c)	 Education performance
	 (d)	 Unemployment
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	 12.	 ^iqufuZfeZr forj.k {ks=k ;kstuk* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g fMLdkWe (fctyh forj.k daifu;ksa) dh vkiwfrZ 
ds vk/kjHkwr <k¡ps dks e”kcwr djus ds fy;s l'krZ 
foÙkh; lgk;rk çnku djsxkA

	 2.	 bldh uksMy ,tsafl;k¡ xzkeh.k fo|qrhdj.k fuxe 
vkSj fo|qr foÙk fuxe gSaA

	 3.	 bldk mn~ns'; 2030 vkiwfrZ ds vkSlr ykxr 
vkSj vkSlr jktLo çkfIr varjky dks ?kVkdj 'kwU; 
djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 13.	 fycksj (LIBOR) ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g baVjcSad ck”kkj esa vlqjf{kr vYidkfyd mèkkj 
ds fy;s oSf'od lanHkZ nj gSA

	 2.	 bldh x.kuk ik¡p eqækvksa& fLol ÚSad] ;wjks] ikmaM 
LVfy±x] tkikuh ;su vkSj vesfjdh MkWyj ds lanHkZ 
esa dh tkrh gSA

	 3.	 fycksj ds Hkkjrh; led{k dks ̂ eqacbZ baVjcSad vkWiQMZ 
jsV* (MIBOR) ds :i esa tkuk tkrk gSA bldh 
x.kuk ckWEcs LVkWd ,Dlpsat }kjk dh tkrh gSA

	 4.	 fycksj] dsaæh; cSadksa dh vklUu uhfrxr njksa ds 
çHkkoksa dk fo'ys"k.k djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 14.	 gc ,aM Liksd ekWMy ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g ,d ifjogu ç.kkyh gS] tks yach nwjh ds fy;s 
^gc* ds :i esa uke fn;s x, dsaæh; LFkku ij 
^Liksd* ds :i esa lanfHkZr LVSaMvyksu LFkkuksa ls 
ifjogu ifjlaifÙk;ksa dks lesfdr djrh gSA

	 2.	 gc esa ,d lefiZr jsyos lkbfMax vkSj daVsuj fMiks 
lqfo/k gksrh gS] tcfd Liksd ls gc rd ifjogu 
lM+d ds ekè;e ls vkSj gc ls gc rd jsy ds 
ekè;e ls fd;k tkrk gSA

	 3.	 ;g ekWMy jsyos dh lkbfMax dh n{krk dk mi;ksx 
djds] Fkksd HkaMkj.k vkSj vkoktkgh ds ekè;e ls 
ykxr n{krk dks c<+kok nsrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 12.	 Consider the following statements with reference 
to 'Restructured Distribution Area Plan':

	 1.	 It will provide conditional financial assistance 
to strengthen the supply infrastructure of 
discoms (power distribution companies).

	 2.	 Its nodal agencies are Rural Electrification 
Corporation and Power Finance Corporation.

	 3.	 The objective is to reduce the average cost 
and average revenue receipt interval of the 
2030 supply to zero.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 only	 (b)	 1 and 2
	 (c)	 2 and 3	 (d)	 1, 2 and 3
	 13.	 Consider the following statements with respect to 

LIBOR:
	 1.	 It is the global reference rate for unsecured 

short-term lending in the interbank market.
	 2.	 It is calculated in terms of five currencies- 

Swiss franc, euro, pound sterling, Japanese 
yen and US dollar.

	 3.	 The Indian equivalent of LIBOR is known 
as the 'Mumbai Interbank Offered Rate' 
(MIBOR). It is calculated by the Bombay 
Stock Exchange.

	 4.	 Libor analyzes the effects of central banks' 
impending policy rates.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 14.	 With reference to hub and spoke model, consider 

the following statements:
	 1.	 It is a transport system that consolidates 

transport assets from standalone locations 
referred to as 'spoke' at the central location 
named as 'hub' for long distances.

	 2.	 The hub has a dedicated railway siding and 
container depot facility, while transport from 
spoke to hub is carried out via road and from 
hub to hub via rail.

	 3.	 This model promotes cost efficiency through 
bulk storage and movement, using the 
efficiency of railway siding.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	15.	 ^ewuykbfVax* 'kCn fuEufyf[kr esa ls fdls lanfHkZr 
djrk gS\

	 (a)	 phu }kjk LVªhV ykbV~l dks gVkus vkSj ns'k ds 'kgjh 
{ks=kksa esa fctyh dh ykxr dks de djus ds fy;s 
viuk ^Ñf=ke paæek* ykWUp djus dh ;kstukA

	 (b)	 eq[; fu;ksDrk dh tkudkjh ds fcuk ,d le; esa 
,d ls vf/d ukSdfj;k¡ djuk gSA

	 (c)	 paæek ij thou dh [kkst ds fy;s uklk dk fe'ku
	 (d)	 mi;ZqDr esa ls dksbZ ugha

	16.	 varjkZ"Vªh; Je laxBu (ILO) ds laca/ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 Xykscy ,EIykW;esaV VªsaM~l iQkWj ;wFk 2022 fjiksVZ 
varjkZ"Vªh; Je laxBu }kjk tkjh dh xbZ gSA

	 2.	 Hkkjr us ?kjsyw dkexkjksa dh fLFkfr esa lq/kj gsrq 
varjkZ"Vªh; Je laxBu dUosa'ku dh iqf"V dh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 17.	 dSafVyu çHkko ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g bl fopkj dks lanfHkZr djrk gS fd ^,d 
vFkZO;oLFkk esa eqæk vkiwfrZ esa ifjorZu yksxksa ds 
chp Ø; 'kfDr ds iqufoZrj.k dk dkj.k curk gSA*

	 2.	 blls oLrqvksa vkSj lsokvksa dh lkis{k dherksa esa 
xM+cM+h gksrh gS rFkk nqyZHk lalk/uksa dk xyr 
vkoaVu gksrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	18.	 ^Cyw ckW.M* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 vkjchvkbZ us Cyw ckW.M dh vo/kj.kk çLrqr dh gSA
	 2.	 ;g ½.k baLVªwesaV dk ,d u;k :i gSA
	 3.	 bls LoLFk egklkxjksa vkSj uhyh vFkZO;oLFkkvksa ds 

fy;s tkjh fd;k tk,xkA
	 4.	 ;g uhyh vFkZO;oLFkk dk leFkZu djus ds fy;s 

lkoZtfud {ks=k ls iwath tqVkus dk volj çnku 
djrs gSaA

	 5.	 Hkkjr leqæh lalk/u [kuu] lrr~ eRL;u] jk"Vªh; 
virVh; iou ÅtkZ uhfr vkfn esa bldk mi;ksx 
dj ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1] 2] 4 vkSj 5	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2] 3 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	 15.	 The term ' Moonlighting' refers to which of the 
following?

	 (a)	 China plans to launch its 'artificial moon' to 
remove streetlights and reduce the cost of 
electricity in urban areas of the country.

	 (b)	 The main employer has to do more than one 
job at a time without the knowledge of the 
employer.

	 (c)	 NASA's mission to search for life on moon.
	 (d)	 None of the above 
	 16.	 Consider the following statements regarding 

international labour organization (ILO):
	 1.	 The Global Employment Trends for Youth 

2022 report has been released by the 
International Labour Organization.

	 2.	 India has ratified the International Labour 
Organization Convention to improve the 
condition of domestic workers.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 17.	  Consider the following statements with reference 

to cantillon effect:
	 1.	 It refers to the idea that 'changes in money 

supply in an economy lead to a redistribution 
of purchasing power among logos.'’

	 2.	 This leads to disturbances in the relative 
prices of goods and services and 
misallocation of scarce resources.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 18.	 Consider the following statements with respect to 

'Blue Bond':
	 1.	 RBI has introduced the concept of blue bond.
	 2.	 This is a new form of loan instrument.
	 3.	 It will be released for healthy oceans and 

blue economies.
	 4.	 It provides an opportunity to raise capital 

from the public sector to support the blue 
economy.

	 5.	 India can use it in marine resource mining, 
sustainable fishing, national offshore wind 
energy policy, etc.

		  Which of the above statement(s) is/are correct?
	 (a)	 1, 2, 4 and 5	 (b)	 1 and 3 only
	 (c)	 2, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
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	19.	 fuEufyf[kr esa ls fdl lewg ds lHkh pkjksa ns'k ukVks 
ds lnL; gSa\

	 (a)	 dukMk] Úk¡l] ;wukbVsM fdaxMe] LohMu
	 (b)	 la;qDr jkT; vesfjdk] bVyh] uhnjySaM] fiQuySaM
	 (c)	 MsuekdZ] iqrZxky] ukWoZs] btjkby
	 (d)	 teZuh] vYckfu;k] cqYxkfj;k] iksySaM

	 20.	 phu&ikfdLrku vkfFkZd xfy;kjk (CPEC) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g 3000 fdeh yach ,d egÙokdka{kh cqfu;knh 
<k¡pk ifj;kstuk gS] tks fd phu ds csYV ,aM jksM 
bfuf'k,fVo (BRI) dk fgLlk gSA

	 2.	 ;g phu dks Xoknj canjxkg ls eè; iwoZ vkSj 
vÚhdk rd igq¡pus dk ekxZ ç'kLr djsxkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	21.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (canjxkg)		 (vofLFkr)
	 1.	 gacuVksVk	 &	Jhyadk
	 2.	 pkcgkj	 &	ikfdLrku
	 3.	 Xoknj	 &	bZjku

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	22.	 varjkZ"Vªh; mÙkj&nf{k.k ifjogu xfy;kjs (INSTC) ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g lnL; ns'kksa ds chp ifjogu lg;ksx dks c<+kok 
nsus ds mn~ns'; ls bZjku] viQxkfuLrku vkSj Hkkjr 
}kjk LFkkfir ,d cgq&eksMy ifjogu gSA

	 2.	 ;g Hkkjr vkSj viQxkfuLrku ds chp <qykbZ ykxr 
dks de djus ds mn~ns'; ls eky <qykbZ ds fy;s 
tgkt] jsy vkSj lM+d ekxZ ds 7,200 fdyksehVj 
yacs eYVh&eksM usVodZ dh dYiuk djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 23.	 Hkkjr&ekWjh'kl laca/ksa ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 gky gh esa nksuksa ns'kksa us O;kid vkfFkZd lg;ksx vkSj 
Hkkxhnkjh le>kSrs (CEPA) ij gLrk{kj fd;s gSaA

	 2.	 Hkkjr vkSj ekWjh'kl ds eè; f}i{kh; O;kikj esa o"kZ 
2021&22 esa 2019&20 dh rqyuk esa deh gqbZ gSA

	 19.	 All the four countries of which of the following 
group are members of NATO?

	 (a)	 Canada, France, United Kingdom, Sweden
	 (b)	 Unit	ed States, Italy, Netherlands, Finland
	 (c)	 Denmark, Portugal, Norway, Israel
	 (d)	 Germany, Albania, Bulgaria, Poland
	 20.	 Consider the following statements with reference 

to China-Pakistan Economic Corridor (CPEC):
	 1.	 It is a 3000 km long ambitious infrastructure 

project that is part of China's Belt and Road 
Initiative (BRI).

	 2.	 This will pave the way for China to reach the 
Middle East and Africa from Gwadar port. 

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 21.	 Consider the following pairs:
	 	 (Port)		  (located)
	 1.	 Hambantota	 –	 Sri Lanka
	 2.	 Chabahar	 –	 Pakistan
	 3.	 Gwadar	 –	 Iran
		  How many of the above pairs are correctly 

matched?
	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs
	 22.	 With reference to the International North-South 

Transport Corridor (INSTC), consider the 
following statements:

	 1.	 It is a multi-modal transport system 
established by Iran, Afghanistan and 
India with the aim of promoting transport 
cooperation among the member countries.

	 2.	 It envisions a 7,200 km multi-mode network 
of ship, rail and road for freight movement 
with an aim to reduce transportation costs 
between India and Afghanistan.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 23.	 Consider the following statements with reference 

to India-Mauritius relations:
	 1.	 Recently, the two countries have signed the 

Comprehensive Economic Cooperation and 
Partnership Agreement (CEPA).

	 2.	 Bilateral trade between India and Mauritius 
has declined in 2021-22 as compared to 
2019-20.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	24.	 fuEufyf[kr esa ls dkSu&ls }hi ekynho ds varxZr 
vkrs gSa\

	 1.	 pkxksl }hi	 2.	 fofyafxyh
	 3.	 xqfYgiQkYgw	 4.	 fFkykiQq'kh

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 2] 3 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 1 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	25.	 fuEufyf[kr esa ls dkSu&lk@ls lSU; vH;kl Hkkjr vkSj 
eysf'k;k ds eè; vk;ksftr gksrk gS@gksrs gSa\

	 1.	 leqæ y{e.k	 2.	 becsDl
	 3.	 gfjeÅ	 4.	 x#.k 'kfDr

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 2] 3 vkSj 4	 (b)	 dsoy 1] 2 vkSj 4
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2] 3 vkSj 4

	26.	 varjkZ"Vªh; fyfDoM fejj VsyhLdksi (ILMT) ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g [kxksy foKku gsrq vf/Ñr nqfu;k dk igyk 
fyfDoM&fejj VsyhLdksi (LMT) gSA

	 2.	 ,d ikjaifjd nwjchu ,d fLFkj nwjchu gksrh gS] 
tcfd ,d LMT vkdk'k esa ^baVjsLV vkWiQ 
vkWCtsDV* dh fn'kk esa dk;Z djrh gSA

	 3.	 blds fodkl esa Hkkjr] csfY”k;e] dukMk] iksySaM 
vkSj m”csfdLrku ns'k 'kkfey gSaA

	 4.	 bls mÙkjk[kaM ds vk;ZHkV~V fjlpZ baLVhV~;wV vkWiQ 
vkWCtoZs'kuy lkbalst uSuhrky ds LokfeRo okys 
nsoLFky os/'kkyk ifjlj esa LFkkfir fd;k x;k gSA

	 5.	 ;g Hkkjr dk igyk fyfDoM fejj VsyhLdksi gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1] 3] 4 vkSj 5	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	27.	 tsEl osc Lisl VsyhLdksi (JWST) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj djsa%

	 1.	 ;g uklk] ;wjksih; varfj{k ,tsalh (ESA) vkSj 
dukMkbZ varfj{k ,tsalh ds chp ,d varjkZ"Vªh; 
lg;ksx dk ifj.kke gSSA

	 2.	 ;g vc rd dk lcls cM+k] lcls 'kfDr'kkyh 
baÚkjsM Lisl VsyhLdksi gSA

	 3.	 ;g gcy VsyhLdksi dk mÙkjkf/dkjh gSA
	 4.	 orZeku esa ;g ySxzsat fcanq (L5) ij fLFkr gSA

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 24.	 Which of the following islands fall under 

Maldives?
	 1.	 Chagos Island	 2.	 Villingili
	 3.	 Gulhifalhu	 4.	 Thilafushi
		  Select the correct answer using the code given 

below:
	 (a)	 2, 3 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 1 and 4 only	 (d)	 1, 2, 3 and 4
	 25.	 Which of the following military exercises is/are 

held between India and Malaysia?
	 1.	 Samudra Laksamana	2.	 IMBEX
	 3.	 Harimau	 4.	 Garuda shakti
		  Select the correct answer using the code given 

below:
	 (a)	 2, 3 and 4 only	 (b)	 1, 2 and 4 only
	 (c)	 1 and 3 only	 (d)	 1, 2, 3 and 4
	 26.	 With reference to the International Liquid Mirror 

Telescope (ILMT), consider the following 
statements:

	 1.	 It is the world's first liquid-mirror telescope 
(LMT) authorized for astronomy.

	 2.	 A conventional telescope is a stationary 
telescope, while an LMT acts in the direction 
of an 'object of interest' in the sky.

	 3.	 Its development includes countries like India, 
Belgium, Canada, Poland and Uzbekistan.

	 4.	 It has been set up at the Devasthala 
Observatory complex owned by Aryabhatta 
Research Institute of Observational Sciences 
Nainital in Uttarakhand.

	 5.	 It is India's first liquid mirror telescope.
		  Which of the above statements are correct?
	 (a)	 1, 3, 4 and 5	 (b)	 2 and 4 only
	 (c)	 1, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 27.	  Consider the following statements with reference 

to the James Webb Space Telescope (JWST):
	 1.	 This is the result of an international 

collaboration between NASA, the European 
Space Agency (ESA) and the Canadian 
Space Agency.

	 2.	 It is by far the largest, most powerful infrared 
space telescope.

	 3.	 It is the successor to the Hubble Telescope.
	 4.	 It is currently located at the Lagrange point 

(L5).
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	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	 28.	 xwxy LVªhV O;w ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 xwxy LVªhV O;w] 'kgj dh lM+dksa ij ?kweus okys 

MsVk laxzkgdksa }kjk okguksa ;k cSdiSDl ij yxs 
fo'ks"k dSejksa dk mi;ksx djds dSIpj fd;s x, 

LFkku dk 360 fMxzh n`'; gSA
	 2.	 ;g ,i dk mi;ksx djds ;k osc O;wvj ds :i 

esa ,aMªkWbM vkSj vkbZvks,l ij ns[kus ds fy;s 

miyC/ gSA
	 3.	 Hkkjr esa ljdkjh laifÙk;ksa] j{kk çfr"Bkuksa vkSj lSU; 

{ks=kksa tSls çfrcaf/r {ks=kksa esa LVªhV O;w dh vuqefr 
ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 1 vkSj 3
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	29.	 gkbMªkstu Ý;wy lsy ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g  jklk;fud ÅtkZ dks fo|qr ÅtkZ esa ifjofrZr 
djrk gSA

	 2.	 gkbMªkstu Ý;wy lsy bysfDVªd Oghdy lcls vPNs 

'kwU; mRltZu lek/kuksa esa ls ,d gSA

	 3.	 gkbMªkstu Ý;wy lsy bysfDVªd Oghdy vkarfjd 

ngu batuksa okys okguksa dh rqyuk esa vf/d dq'ky 
gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 dsoy 2	 (d)	 1] 2 vkSj 3

	30.	 y?kq mixzg ç{ksi.k ;ku (SSLV) ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 blesa nks Bksl ç.kksnu pj.k vkSj ,d rjy ç.kksnu 
vk/kfjr osx&fVªfeax ekWM~;wy gSA

	 2.	 ;g dsoy ,d mixzg dks lek;ksftr dj ldrk gSA
	 3.	 bls yacor~ vkSj {kSfrt nksuksa rjg ls lek;ksftr 

fd;k tk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1 vkSj 3
	 (c)	 1 vkSj 2	 (d)	 2 vkSj 3

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only

	 (b)	 1, 2 and 3 only

	 (c)	 3 and 4 only

	 (d)	 1, 2, 3 and 4

	 28.	 Consider the following statements with respect to 
Google Street View:

	 1.	 Google Street View is an immersive 360 
degree view of a location captured using 
special cameras mounted on vehicles or on 
backpacks by data collectors moving around 
the city streets.

	 2.	 It is available to view on Android and iOS 
using the app, or as a web viewer.

	 3.	 Street View in India is not allowed for 
restricted areas like government properties, 
defence establishments and military areas.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 only	 (b)	 1 and 3

	 (c)	 3 only	 (d)	 1, 2 and 3

	 29.	 Consider the following statements with reference 
to hydrogen fuel cell:

	 1.	 It converts chemical energy into electrical 
energy.

	 2.	 Hydrogen Fuel Cell Electric Vehicle is one 
of the best zero emission solutions.

	 3.	 Hydrogen fuel cell electric vehicles are 
more efficient than vehicles with internal 
combustion engines.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 1 and 2  

	 (c)	 2 only	 (d)	 1, 2 and 3

	 30.	 With reference to Small Satellite Launch Vehicle 
(SSLV), consider the following statements:

	 1.	 It has two solid propulsion stages and a 
liquid propulsion based velocity-trimming 
module.

	 2.	 It can accommodate only one satellite.

	 3.	 It can be adjusted both vertically and 
horizontally.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 only	 (b)	 1 and 3

	 (c)	 1 and 2	 (d)	 2 and 3



10
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	31.	 ySaX;k ok;jl ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g ,d twuksfVd ok;jl gS] tks tkuojksa ds ekè;e 
ls euq";ksa esa ugha iQSy ldrk gSA

	 2.	 ySaX;k thul gsfuik ok;jl dk fgLlk gS] ftlesa 
,d flaxy LVªSaMsM RNA thukse ,d udkjkRed 
vfHkfoU;kl ds lkFk ekStwn gSA

	 3.	 ySaX;k ok;jl mlh ifjokj ls lacaf/r gS] ftles 
fuikg ok;jl lacaf/r gS] tks vkerkSj ij pexknM+ksa 
esa ik;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 1 vkSj 3
	 (c)	 1 vkSj 2	 (d)	 2 vkSj 3

	 32.	 eaFku IysViQkWeZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bldk mn~ns'; Hkkjr esa çkS|ksfxdh vk/kfjr 
lkekftd çHkko uokpkjksa vkSj lek/kuksa dks ykxw 
djus esa m|ksx vkSj vuqla/ku laLFkkuksa ds chp 
lg;ksx dks c<+kok nsuk gSA

	 2.	 ;g la;qDr jk"Vª ds lrr~ fodkl y{;ksa ds çfr 
ljdkj dh çfrc¼rk dk Hkh çek.k gSA

	 3.	 ;g NSEIT }kjk lapkfyr gS vkSj bldk usr`Ro 
ç/ku oSKkfud lykgdkj ds dk;kZy; }kjk fd;k 
tk jgk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 33.	 fØIVks tSfdax ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g ,d lkbcj vijk/ gS] ftles gSd fd;s x, 
daI;wVj ds ekè;e ls fØIVksdjsalh dh ekbfuax dh 
tkrh gSA

	 2.	 blds ihfM+rksa dks bl ckr dh tkudkjh ugha gksrh 
gS fd muds daI;wVj ;k usVodZ esa NsM+NkM+ gks 
pqdh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	34.	 ^yaih fLdu fMtht* fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g eosf'k;ksa dk ,d thok.kq tfur laØe.k gSA
	 2.	 ;g jksx eq[; :i ls ePNjksa vkSj efD[k;ksa ds 

dkVus] dhM+ksa ds dkVus ls tkuojksa esa iQSyrk gSA

	 31.	 Consider the following statements with regarding 
to Langya virus:

	 1.	 It is a zoonotic virus that cannot spread to 
humans through animals.

	 2.	 Langya is part of the genus Henipa virus, 
in which a single stranded RNA genome is 
present with a negative orientation.

	 3.	 Langya virus belongs to the same family as 
Nipah virus which is commonly found in 
bats.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 only	 (b)	 1 and 3

	 (c)	 1 and 2	 (d)	 2 and 3

	 32.	 Consider the following statements with reference 
to Manthan platform:

	 1.	 It aims to promote collaboration between 
industry and research institutions in 
implementing technology-based social 
impact innovations and solutions in India.

	 2.	 It is also a testimony to the government's 
commitment to the Un Sustainable 
Development Goals.

	 3.	 It is run by NSEIT and is headed by the 
office of the Principal Scientific Advisor.

		  Which of the above statements are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 33.		 Consider the following statements about Crypto 
jacking:

	 1.	 This is a cyber crime, in which 
cryptocurrencies are mined through hacked 
computers.

	 2.	 Its victims are not aware that their computers 
or networks have been tampered with.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 34.	 Lumpy Skin Disease Consider the following 
statements:

	 1.	 It is a bacterial infection of cattle.

	 2.	 The disease is mainly spread to animals by 
mosquito and flies bites, insect bites.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 35.	 VkseSVks Ýyw ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 VkseSVks Ýyw ds mipkj ds fy;s dksbZ fof'k"V nok 
ugha gSA

	 2.	 ;g vk¡rksa ds ok;jl ds dkj.k gksrk gS] tks o;Ldksa 
esa nqyZHk gksrk gSA

	 3.	 VkseSVks Ýyw dk bykt] fpduxqfu;k ds bykt ds 
leku gSA

	 4.	 gky gh esa dsjy ds dqN fgLlksa esa 5 ls 10 o"kZ 
ds cPpksa esa blds laØe.k dk ekeyk ntZ fd;k 
x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	36.	 eVTOL ,;jØkÝV ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ,d eVTOL ,;jØkÝV og gS] tks fctyh dh 
'kfDr dk mi;ksx mM+ku Hkjus] Vsd vkWiQ vkSj 
yacor~ :i ls ySaM djus ds fy;s djrk gSA

	 2.	 blesa vf/d n{krk vkSj lqj{kk lqfuf'pr djus ds 
fy;s dbZ eksVj gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	37.	 Hkkjr dh igyh okf.kfT;d varfj{k fLFkfrijd 
tkx:drk (SSA) os/'kkyk ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bls mÙkjk[kaM ds x<+oky {ks=k esa LFkkfir fd;k 
tk,xkA

	 2.	 ;g fuEu i `Foh d{kk (LEO) ls y sdj 
Hkw&rqY;dkfyd d{kk (GEO) rd dh d{kkvksa 
esa mixzgksa vkSj eycs dh fuxjkuh djus esa l{ke 
gksxkA

	 3.	 ;g viuh rjg dh igyh os/'kkyk gksxh] ftls 
LVkVZ&vi dh SSA {kerkvksa dks c<+kus ds fy;s 
LFkkfir fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 35.	 Consider the following statements with reference 
to tomato flu:

	 1.	 There is no specific medicine to treat tomato 
flu.

	 2.	 It is caused by intestinal viruses, which are 
rare in adults.

	 3.	 Treating tomato flu is similar to treating 
chikungunya.

	 4.	 Recently, a case of its infection has been 
reported among children aged 5 to 10 years 
in some parts of Kerala.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only

	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4

	 36.	 With reference to eVTOL aircraft, consider the 
following statements:

	 1.	 An eVTOL aircraft is one that uses electric 
power to take off, take off and land vertically.

	 2.	 It has several motors to ensure greater 
efficiency and safety.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 37.	 Consider the following statements with reference 
to India's first Commercial Space Situational 
Awareness (SSA) Observatory:

	 1.	 It will be set up in Garhwal region of 
Uttarakhand.

	 2.	 It will be able to monitor satellites and debris 
in orbits ranging from low Earth orbit (LEO) 
to geosynchronous orbit (GEO).

	 3.	 This will be the first observatory of its kind, 
which has been set up to enhance the SSA 
capabilities of start-ups.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only

	 (b)	 1 and 2 only

	 (c)	 2 and 3 only

	 (d)	 1, 2 and 3
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	 38.	 vkdZfVd ço/Zu ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g ml fLFkfr dks dgrs gSa] tc ok;qeaMy esa 
rkieku esa ifjorZu ds dkj.k i`Foh ds mÙkjh vkSj 
nf{k.kh /zqoksa ds rkieku esa 'ks"k {ks=kksa dh rqyuk 
esa vf/d varj gksrk gS vkSj ;g ifjorZu mÙkjh 
v{kka'kksa ij vf/d Li"V gksrk gSA

	 2.	 bl ?kVuk dks xzg ds vkSlr rkieku ifjorZu ds 
lkis{k ekik tkrk gSA

	 3.	 bl ifjo¼Zu ds dkj.kksa ds varxZr vkdZfVd {ks=k 
esa rsth ls fgekPNknu dk c<+uk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3

	 39.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 jkelj LFky		  vofLFkfr
	 1.	 raikjk >hy	 &	 vksfM'kk
	 2.	 ;'koar lkxj	 &	 jktLFkku
	 3.	 gkbxe vkæZHkwfe laj{k.k fjtoZ	 &	 ukxkySaM
	 4.	 oMqowj i{kh vHk;kj.;	 &	 rfeyukMq

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe
	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe
	 (d)	 lHkh pkjksa ;qXe

	 40.	 jkelj ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ns'k esa jkelj LFkyksa dh la[;k lcls vf/d xqtjkr 
esa gSA

	 2.	 ns'k esa jkT;okj forj.k esa xqtjkr 34700 oxZ fdeh 
ds lkFk 'kh"kZ ij gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 41.	 fdlh LFky dks jkelj LFky ?kksf"kr djus ds fy;s 
fuEufyf[kr ekunaMksa esa ls dkSu&lk@ls 'kkfey gS@gSa\

	 1.	 og LFky fu;fer :i ls 20000 ;k vf/d 
tyif{k;ksa dk leFkZu djrk gksA

	 2.	 og LFky ladVxzLr ikfjfLFkfrd leqnk;ksa dk leFkZu 
djrk gksA

	 3.	 çokl iFk ds fy;s Hkkstu dk egÙoiw.kZ lzksr gksA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3

	 38.	 Consider the following statements with reference 
to Arctic amplification:

	 1.	 This is the situation when due to the change 
in temperature in the atmosphere, the 
temperature of the north and south poles of 
the earth has a greater difference than the 
rest of the regions and this change is more 
pronounced at the northern latitudes.

	 2.	 This phenomenon is measured relative to the 
average temperature change of the planet.

	 3.	 The reasons for this addition are the rapid 
increase of glaciation in the Arctic region.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 39.	 Consider the following pairs:
		  Ramsar site		  Location
	 1.	 Tampara Lake	 -	 Odisha
	 2.	 Yashwant Sagar	 -	 Rajasthan
	 3.	 Hygam Wetland	 -	 Nagaland
		  Conservation Reserve
	 4.	 Vaduvur Bird	 -	 Tamil Nadu	

Sanctuary
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair
	 (b)	 Only two pairs
	 (c)	 Only three pairs
	 (d)	 All four pairs
	 40.	 With reference to Ramsar, consider the following 

statements:
	 1.	 Gujarat has the highest number of Ramsar 

sites in the country.
	 2.	 Gujarat tops the state-wise distribution in the 

country with 34700 sq km.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 41.	 Which of the following criteria(s) is/are included 

for declaring a site as Ramsar site?
	 1.	 The site regularly supports 20,000 or more 

waterbirds.
	 2.	 The site supports threatened ecological 

communities.
	 3.	 Be an important source of food for the 

journey path.
		  Select the correct answer using the code given 

below:
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
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	 42.	 ekuo&oU;tho la?k"kks± ds dkj.kksa ds varxZr fuEufyf[kr 
esa ls dkSu&lk@ls 'kkfey gS@gSa\

	 1.	 tyok;q ifjorZu
	 2.	 lajf{kr {ks=k esa c<+ksrjh
	 3.	 oU;tho tfur laØe.k
	 4.	 'kgjhdj.k
	 5.	 ifjogu usVodZ
	 6.	 c<+rh ekuo tula[;k

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 2] 3 vkSj 5
	 (b)	 dsoy 1] 4 vkSj 5
	 (c)	 dsoy 1] 3] 4] 5 vkSj 6
	 (d)	 1] 2] 3] 4 vkSj 6

	 43.	 gkFkh fjtoZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 vxLR;eykbZ ns'k dk 31ok¡ vkSj rfeyukMq dk 5ok¡ 
gkFkh fjtoZ gSA

	 2.	 flaxiQu gkFkh fjtoZ vle esa fLFkr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	44.	 gky gh ppkZ esa jgh xkMkZ >hy fuEufyf[kr esa ls fdl 
ns'k esa vofLFkr gS\

	 (a)	 iqrZxky	 (b)	 bVyh
	 (c)	 dsU;k	 (d)	 bZjku

	 45.	 lw[ks ds lanHkZ esa fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 1.	 ekSleh lw[kk	 &	 �fdls cM+s {ks=k esa vis{kk 

ls 75» de o"kkZ gksus ls 
mRiUu fLFkfr

	 2.	 tyh; lw[kk	 &	 �iQly ds fy;s visf{kr 
o"kkZ ls dkiQh de o"kkZ

	 3.	 Ñf"kxr lw[kk	 &	 �ekSle foKkuh lw[ks dh 
vof/ vf/d gksus ls 
ufn;ksa] rkykc] >hy dk 
lw[kuk

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	 46.	 'kq"drk folaxfr vkmVyqd lwpdkad ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g uhfr vk;ksx }kjk tkjh fd;k tkrk gSA
	 2.	 ;g feV~Vh ds ih,p Lrj dks ekirk gSA
	 3.	 okLrfod ok"ihdj.k vkSj ifjdfyr laHkkfor 

ok"ihdj.k bl lwpdkad ds çeq[k ekunaM gSaA

	 42.	 Which of the following is/are included under the 
causes of human-wildlife conflicts?

	 1.	 Climate change
	 2.	 Increase in protected area
	 3.	 Wildlife borne Infections
	 4.	 Urbanization
	 5.	 Transport Network
	 6.	 Increasing Human Population 
		  Select the correct answer using the code given 

below:
	 (a)	 2, 3 and 5 only
	 (b)	 1, 4 and 5 only
	 (c)	 1, 3, 4, 5 and 6 only
	 (d)	 1, 2, 3, 4 and 6
	 43.	 With reference to Elephant Reserve, consider the 

following statements:
	 1.	 Agastyamalai is the 31st elephant reserve in 

the country and the 5th elephant reserve in 
Tamil Nadu.

	 2.	 Singphan Elephant Reserve is located in 
Assam.

		  Which of the above statements is/are not/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 44.	 Garda Lake, which has been in discussion recently, 

is located in which of the following countries?
	 (a)	 Portugal	 (b)	 Italy
	 (c)	 Kenya	 (d)	 Iran
	 45.	 In the context of Drought, consider the following 

pairs:
	 1.	 Meteorological Drought- Which large area 

receives 75% less rainfall than expected.
	 2.	 Hydrological Drought	- Much less rainfall 

than expected for the crop.
	 3.	 Agricultural Drought - Drying up of rivers, 

ponds, lakes due to prolonged duration of 
meteorological drought.

		  How many of the above pairs are correctly 
matched?

	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs
	 46.	 With reference to the Aridity Anomaly Outlook 

Index, consider the following statements:
	 1.	 It is issued by NITI Aayog.
	 2.	 It measures the pH level of the soil.
	 3.	 Actual evaporation and calculated potential 

evaporation are the key criteria of this index.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 2 vkSj 3	 (b)	 dsoy 1
	 (c)	 1 vkSj 2	 (d)	 dsoy 3

	 47.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 IysV		 vofLFkfr
	 1.	 dkWdkWl IysV	 &	�nf{k.k vesfjdk vkSj 

ç'kkar IysV ds eè;
	 2.	 utdk IysV	 &	�eè; vesfjdk vkSj 

ç'kkar IysV ds eè;
	 3.	 dSjksyhu IysV	 &	�fiQyhihal vkSj 

Hkkjrh; IysV ds eè;
	 4.	 Ý;wth IysV	 &	�vkWLVªsfy;k ds mÙkj 

iwoZ

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	 48.	 yksdVd >hy ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g iwokZsÙkj Hkkjr dh lcls cM+h ehBs ikuh dh 
>hy gSA

	 2.	 ;g ekWUVªsDl fjdkWMZ ds rgr lwphc¼ ugha gSA
	 3.	 bl ij dsbcqy yketkvks jk"Vªh; m|ku fLFkr gSA
	 4.	 ;g fe”kksje esa vofLFkr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4	 (d)	 dsoy 4

	 49.	 egklkxj rkih; ÅtkZ :ikarj.k (OTEC) la;a=k ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fo|qr mRiknu ds fy;s ,d Vjckbu dks fo|qr 
çnku djus gsrq de&ls&de 77º F ds rkikarj dk 
mi;ksx djrk gSA

	 2.	 vksVhbZlh ç.kkyh leqæh ty dk mi;ksx dk;Z'khy 
æo ds :i esa djrh gSA

	 3.	 vksVhbZlh la;a=k jkr esa dke ugha dj ldrs gSaA
	 4.	 jk"Vªh; leqæ çkS|ksfxdh laLFkku] dojÙkh esa bldh 

LFkkiuk dh tk jgh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4	 (d)	 dsoy 2

	 50.	 fuEufyf[kr jkT;ksa ij fopkj dhft;s%

	 1.	 if'pe caxky	 2.	 vksfM'kk
	 3.	 >kj[kaM	 4.	 f=kiqjk

		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 3	 (b)	 1 only
	 (c)	 1 and 2	 (d)	 3 only
	 47.	 Consider the following pairs:
	 	 Plate		  Location
	 1.	 Cocos plate	 –	 Between South 
	 	 		 	 America and Pacific 
					    Plate
	 2.	 Nazca plate	 –	 Between Central 
	 	 		 	 America and Pacific 
					    Plate
	 3.	 Caroline plate	 –	 Between the 
					    Philippines and 
					    Indian plate
	 4.	 Fuji plate	 –	 North-East of 
					    Australia
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 48.	 Consider the following statements with respect to 

Loktak Lake:
	 1.	 It is the largest freshwater lake in Northeast 

India.
	 2.	 It is not listed under the Montreux Record.
	 3.	 Keibul Lamjao National Park is located on 

it.
	 4.	 It is located in Mizoram.
		  Which of the above statements are correct?
	 (a)	 1 and 3 only	 (b)	 1, 2 and 3
	 (c)	 2 and 4 only	 (d)	 4 only
	 49.	 Consider the following statements with respect to 

Ocean Thermal Energy Conversion (OTEC) plant:
	 1.	 It uses a temperature difference of at least 

77ºF to power a turbine for power generation.
	 2.	 The OTEC system uses seawater as a 

working fluid.
	 3.	 OTEC plants cannot work at night.
	 4.	 It is being set up at National Institute of 

Ocean Technology, Kavaratti. 
		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 only	 (b)	 1, 2 and 4
	 (c)	 3 and 4 only	 (d)	 2 only
	 50.	 Consider the following states:
	 1.	 West Bengal	 2.	 Odisha
	 3.	 Jharkhand	 4.	 Tripura
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	 	mi;ZqDr esa ls fdrus eq[; :i ls twV mRiknd jkT; 

ds :i esa tkus tkrs gSa\

	 (a)	 dsoy ,d jkT;	 (b)	 dsoy nks jkT;

	 (c)	 dsoy rhu jkT;	 (d)	 lHkh pkjksa jkT;

	 51.	[kfut vkiwfrZ Hkkxhnkjh ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g ,d lk>snkjh igy gS] ftldk mn~ns'; nqyZHk 

[kfut vkiwfrZ  Üka`[kykvksa dks e”kcwr djuk gSA

	 2.	 Hkkjr vkSj tkiku dks bl lewg esa 'kkfey fd;k 

x;k gSA

	 3.	 bl lewg dk mn~ns'; j.kuhfrd voljksa dks 

fodflr ds fy;s ljdkjksa ,oa futh {ks=k ls fuos'k 

dks mRçsfjr djuk gSA

	 4.	 ;g lewg phu ds fodYi ds :i esa ekuk tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 3 vkSj 4	 (b)	dsoy 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 52.	gky gh esa ppkZ esa jgk ^pSaMyj okWcy* 'kCn fdlls 

lacaf/r gS\

	 (a)	 i`Foh dh ifjØe.k xfr esa cnyko ls tyok;q 

ifjorZuA

	 (b)	 leqæ ds tyLrj esa gksus okyk cnykoA

	 (c)	 paæek dh lrg ij [kkstk x;k nqyZHk /krqA

	 (d)	 viuh /qjh ij ìFoh ds ?kw.kZu esa gksus okyk ifjorZuA

	 53.	 gky gh esa ppkZ esa jgh iwxk ?kkVh fuEufyf[kr esa ls 
fdl jkT;@dsaæ'kkflr çns'k esa lacaf/r gS\

	 (a)	 mÙkjk[kaM	 (b)	 fgekpy çns'k
	 (c)	 v#.kkpy çns'k	 (d)	 yn~nk[k

	 54.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vkink jks/h volajpuk ds fy;s xBca/u (CDRI) 
dks Lora=k ,oa varjkZ"Vªh; dkuwuh laLFkk dk ntkZ 

fn;k x;k gSA

	 2.	 Hkkjr us CDRI ds lkFk ^gsMDokVZj ,xzhesaV* ij 

gLrk{kj fd;s gSaA

	 3.	 ;g le>kSrk CDRI dks la;qDr jk"Vª (fo'ks"kkfèkdkj 

vkSj mUeqfDr) vf/fu;e] 1947 ds rgr lHkh 

vf/dkjksa] mUeqfDr;ksa rFkk fo'ks"kkf/dkjksa ds lkFk 

varjkZ"Vªh; Lrj ij dk;Z djus esa l{ke cuk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

		  How many of the above are mainly known as jute 
producing states?

	 (a)	 Only one state	 (b)	 Only two states
	 (c)	 Only three states	 (d)	 All four states
	 51.	 With reference to Mineral Security Partnership, 

consider the following statements:
	 1.	 It is a partnership initiative aimed at 

strengthening rare mineral supply chains.
	 2.	 India and Japan have been included in this 

group.
	 3.	 The group aims to encourage investment 

from governments and the private sector to 
develop strategic opportunities.

	 4.	 This group is considered as an alternative to 
China.

		  Which of the above statements are correct?		
	 (a)	 1, 3 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 2 and 4 only	 (d)	 1, 2, 3 and 4
	 52.	 The term “Chandler Wobble” recently been in 

news, is related to-
	 (a)	 Climate change from changes in the earth's 

rotation speed.
	 (b)	 Change in sea level.
	 (c)	 Rare metal discovered on the surface of the 

moon.
	 (d)	 A change in the spin of earth on its axis.
	 53.	 Puga Valley, which has been in the news recently, 

is related to which of the following states/UTs?
	 (a)	 Uttarakhand	 (b)	 Himachal Pradesh
	 (c)	 Arunachal Pradesh	 (d)	 Ladakh
	 54.	 Consider the following statements:
	 1.	 The Coalition for Disaster Resilient 

Infrastructure (CDRI) has been granted the 
status of an independent and international 
legal body.

	 2.	 India has signed a 'Headquarters Agreement' 
with CDRI.

	 3.	 The Agreement will enable CDRI to function 
internationally with all rights, immunities 
and privileges under the United Nations 
(Privileges and Immunities) Act, 1947.

		  Which of the above statements are correct?		
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	55.	tsaMj ctfVax ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 lkoZtfud O;; vkSj uhfr esa efgyk ljksdkjksa dks 
eq[; /kjk esa ykukA

	 2.	 lkoZtfud O;;] dk;ZØeksa ;k ;kstukvksa ds 
dk;kZUo;u rFkk uhfr;ksa dk tsaMj vkWfMV djukA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	56.	la;qDr jk"Vª cky dks"k (UNICEF) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk la;qDr jk"Vª egklHkk }kjk fnlacj 
1946 dks dh xbZ FkhA

	 2.	 bldh LFkkiuk dk çeq[k mn~n s'; f}rh; 
fo'o;q¼  ls  çHkkfor cPpksa vkSj ekrkvksa dks 
vkikrdkyhu fLFkfr esa Hkkstu vkSj LokLF; lsok 
miyC/ djkuk FkkA

	 3.	 bldk foÙk iks"k.k fofHkUu ljdkjksa vkSj futh nkrkvksa 
}kjk fd;k tkrk gSA

	 4.	 ;g laiw.kZ Hkkjr esa cky&vf/dkjksa dks çksRlkfgr 
,oa lajf{kr djus dk dk;Z djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 2] 3 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 1 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	57.	l?ku fe'ku baæ/uq"k 4.0 ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g lqfuf'pr djsxk fd fu;fer Vhdkdj.k (RI) 
lsok,¡ fcuk Vhdkdj.k okys vkSj vkaf'kd :i ls 
Vhdkdj.k okys cPpksa ,oa xHkZorh efgykvksa rd 
igq¡psA

	 2.	 bl vfHk;ku esa ik¡p o"kZ rd ds cPpksa dks 'kkfey 
fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	58.	^ueLrs ;kstuk* ds fy;s jk"Vªh; dk;Z ;kstuk ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g is;ty ,oa LoPNrk foHkkx] lkekftd U;k; 
,oa vf/dkfjrk ea=kky; vkSj vkokl rFkk 'kgjh 
ekeyksa ds ea=kky; dk ,d la;qDr m|e gSA

	 2.	 bl ;kstuk dks o"kZ 2022 ls 2030 rd 1000 
'kgjksa vkSj Vkmuf'ki esa ykxw fd;k tk,xkA 

	 3.	 ^ueLrs ;kstuk* ds rgr dke dks lqfo/ktud 
cukus ds fy;s ^ueLrs iksVZy* 'kq: fd;k x;k gSA

	 55.	 Consider the following statements with reference 
to gender budgeting:

	 1.	 Mainstreaming women concerns in public 
expenditure and policy.

	 2.	 Gender audit of public expenditure, 
implementation of programmes or schemes 
and policies.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 56.	 Consider the following statements with reference 

to United Nations Children's Fund (UNICEF):
	 1.	 It was established by the United Nations 

General Assembly in December 1946.
	 2.	 UNICEF was created by the United Nations 

to provide emergency food and health care 
to children and mothers in the countries 
affected by World War II. 

	 3.	 It is funded by various governments and 
private donors.

	 4.	 It works to promote and protect child rights 
across India.

		  Which of the above statements are correct?		
	 (a)	 2, 3 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 1 and 4 only	 (d)	 1, 2, 3 and 4
	 57.	 Consider the following statements with reference 

to Intensified Mission Indradhanush 4.0:
	 1.	 It will ensure that Routine Immunization (RI) 

services reach unvaccinated and partially 
vaccinated children and pregnant women.

	 2.	 Children up to five years will be covered in 
this drive.

		  Which of the above statement(s) is/are not 
correct?		

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 58.	 Consider the following statements with reference 

to the National Action Plan for Namaste Yojana:
	 1.	 It is a joint venture of the Department of 

Drinking Water and Sanitation, Ministry 
of Social Justice and Empowerment and 
Ministry of Housing and Urban Affairs.

	 2.	 This scheme will be implemented in 1000 
cities and townships from the year 2022 to 
2030. 

	 3.	 Namaste portal has been started to facilitate 
work under namaste scheme.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gSa\

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	 1] 2 vkSj 3

	59.	ikyu 1000 jk"Vªh; vfHk;ku ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 blds rgr ,d isjsafVax ,Iyhds'ku dk vukoj.k 
fd;k x;k] tks eq[; :i ls cPpksa ds tUe ds 
igys nks o"kks± ds fodkl ij è;ku dsafær gSA

	 2.	 bl dk;ZØe dks jk"Vªh; cky LokLF; dk;ZØe 
fe'ku ds lkFk tksM+k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	60.	Xykscy fjiksVZ vkWu vfllfVo VsDuksykWth (GReAT) ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls fo'o LokLF; laxBu vkSj la;qDr jk"Vª cky 
dks"k us tkjh fd;k gSA

	 2.	 ;g fjiksVZ lgk;d çkS|ksfxdh rd çHkkoh igq¡p 
ij ,d oSf'od fjiksVZ rS;kj djus gsrq o"kZ 2018 
ds fo'o LokLF; lHkk ds 71osa çLrko dh 
ifj.kfr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	61.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (ys[kd)		 (jpuk)
	 1.	 glu futkeh	 %	rktqy ekflj
	 2.	 feUgkt fljkt	 %	iQokn&my&iQqokn
	 3.	 vehj glu flTth	 %	rcdkr&,&ukfljh
	 4.	 vcqy iQty	 %	vdcjukek

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	62.	ikaMqjax [kku[kksts ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bldk tUe egkjk"Vª ds o/kZ esa gqvk FkkA
	 2.	 ;g xnj ikVhZ ds laLFkkid lnL;ksa esa ls ,d FksA
	 3.	 mUgsa eSfDldks esa us'kuy Ldwy vkWiQ ,xzhdYpj 

esa çksiQslj ds in ij fu;qDr fd;k x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 1 and 2
	 (c)	 2 and 3	 (d)	 1, 2, and 3
	 59.	 Consider the following statements with reference 

to Paalan 1000 National Campaign:
	 1.	 Under this, a parenting application was 

unveiled, which mainly focuses on the 
development of from the first two years after  
birth.

	 2.	 The programme has been linked with the 
National Child Health Programme Mission.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 60.	 With reference to the Global Report on Assistive 

Technology (GReAT), consider the following 
statements:

	 1.	 It has been released by the World Health 
Organization and the United Nations 
Children's Fund.

	 2.	 The report is the culmination of the 71st 
resolution of the 2018 World Health 
Assembly to prepare a global report on 
effective access to assistive technology.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 61.	 Consider the following pairs:
	 		 (Author)		  (Creation)
	 1.	 Hasan Nizam	 :	 Tajul Masir
	 2.	 Minhaj Siraj	 :	 Fawaid-ul-Fuwad
	 3.	 Amir Hasan Sijzi	 :	 Tabaqat-i-Nasiri
	 4.	 Abul Fazal	 :	 Akbarnama
		  How many of the above pairs are correctly 

matched?		
	 (a)	 Only one pairs	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 62.	 With reference to Pandurang Khankhoje, consider 

the following statements:
	 1.	 He was born in Wardha, Maharashtra.
	 2.	 He was one of the founding members of the 

Gadar Party.
	 3.	 He was appointed to the position of professor 

at the National School of Agriculture in 
Mexico.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
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	 63.	xnj ikVhZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bldk mn~ns'; Hkkjr esa fczfV'k mifuos'kokn ds 
f[kykiQ ,d jk"VªO;kih l'kL=k la?k"kZ NsM+uk FkkA

	 2.	 blds igys vè;{k ykyk gjn;ky FksA
	 3.	 blds vf/dka'k lnL; O;kikjh oxZ ls FksA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 3
	 (c)	 2 vkSj 3	 (d)	 1 vkSj 2

	64.	Fkaxdk isafVax ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 
dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g isafVax dikl] js'ke vf/jksi.k ij ,d frCcrh 
ckS¼ isafVax gS] tks ,d ckS¼ nsork ;k ikSjkf.kd 
n`';ksa dks n'kkZrh gSA

	 2.	 ;g isafVax eaxksfy;k] yn~nk[k] flfDde] v#.kkpy 
çns'k rFkk fgeky;h Hkkjr ds dqN fgLlksa esa bldk 
vH;kl fd;k tkrk gSA

	 3.	 bl isafVax dk lcls çeq[k fo"k; HkopØ gS] 
ftlesa  çcq¼rk dh dyk dks fofHkUu çdkj ls 
n'kkZ;k tkrk gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	65.	dkyh csu unh ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g unh diwjFkyk esa C;kl vkSj lryqt unh ds 
laxe ls feyrh gSA

	 2.	 blh unh ds fdukjs xq# ukud Kku çkIr gqvk FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	66.	i;Zq"k.k ioZ ds lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&lk@
ls lgh ugha gS@gSa\

	 1.	 ;g ,d ckS¼ R;ksgkj gS] ftldk vFkZ gS& ^LFkk;h* 
;k ^,d lkFk vkuk*A

	 2.	 ;g ioZ fiNys o"kZ esa fd;s x, ikiks a dh 
LohdkjksfDr vkSj mlds fy;s {kek ekaxus ds lkFk 
lekIr gksrk gSA

	 3.	 bl ioZ ds nkSjku dbZ ckS¼ksa }kjk çfrØe.k Hkh 
fd;k tkrk gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 1 vkSj 3

	 63.	 Consider the following statements with reference 
to Gadar Party:

	 1.	 The aim was to wage a nationwide armed 
struggle against British colonialism in India.

	 2.	 Its first president was Lala Hardayal.
	 3.	 Most of its members were from the business 

class.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1  only	 (b)	 3 only
	 (c)	 2 and 3	 (d)	 1 and 2
	 64.	 Which of the following statement(s) is/are correct 

with respect to Thangka painting?
	 1.	 This painting is a Tibetan Buddhist painting 

on cotton, silk plantation that depicts a 
Buddhist deity or mythological scenes.

	 2.	 This painting is practiced in Mongolia, 
Ladakh, Sikkim, Arunachal Pradesh and 
parts of Himalayan India.

	 3.	 The most prominent theme of this painting 
is the Bhavachakra, in which the art of the 
Enlightenment is depicted in various ways.

		  Select the correct answer using the code given 
below:		

	 (a)	 1 only	 (b)	 1 and 2
	 (c)	 3 only	 (d)	 1, 2 and 3
	 65.	 Consider the following statements with respect to 

Kali Ben River:
	 1.	 The river joins the confluence of beas and 

sutlej rivers in Kapurthala.
	 2.	 Guru Nanak knowledge was attained on the 

banks of this river.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 66.	 Which of the following statement(s) is/are not 

correct with respect to Paryushan Parva?
	 1.	 It is a Buddhist festival. Which means 

'Permanent' or 'Coming together'.
	 2.	 The festival ends with the confession of sins 

committed in the previous year and seeking 
forgiveness for the same.

	 3.	 Pratikraman is also performed by many 
Buddhists during this festival.

		  Select the correct answer using the code given 
below:		

	 (a) 	 1 only	 (b)	 1 and 2
	 (c)	 3 only	 (d)	 1 and 3
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	 67.	^laLÑfr&laØe.k* in ls D;k vk'k; gS\

	 (a)	 ;g og çfØ;k gS] ftlesa ,d laLÑfr dk nwljh 

laLÑfr ds çHkkoh gksus rFkk mlds ewY;ksa vkSj 

çFkkvksa dks [kRe djus ls lacaf/r gSA

	 (b)	 ;g og çfØ;k gS] ftlesa ,d laLÑfr dk O;fDr 

;k lewg nwljh laLÑfr ds laidZ esa vkrk gSA lkFk 

gh viuh ewy igpku dks cuk, j[krs gq, nwljh 

laLÑfr ds ewY;ksa ,oa çFkkvksa dks viukrk gSA

	 (c)	 ;g og çfØ;k gS] ftlesa ,d laLÑfr dk O;fDr 

;k lewg nwljh laLÑfr ds laidZ esa vkrk gS] lkFk 

gh viuh ewy igpku dks NksM+dj nwljh laLÑfr 

ds ewY;ksa ,oa çFkkvksa dks viukrk gSA

	 (d)	 ;g og çfØ;k gS] ftlesa nks laLÑfr ds yksxksa ds 

feyus ls ,d ubZ laLÑfr ds fodkl dks lanfHkZr 

djrk gSA

	68.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 pqvkj foæksg Hkkjr esa lcls vkjafHkd fdlku foæksgksa 

esa ls ,d gSA bls taxy egy ds foæksg ds :i 

esa Hkh tkuk tkrk gSA

	 2.	 lacyiqj foæksg dk usr`Ro lqjsaæ lkbZ us fd;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	69.	^iQsf'k;y fjdfXu'ku VsDuksykWth (FRT)* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 iQsf'k;y fjdfXu'ku VsDuksykWth ,d ,YxksfjFke 

vk/kfjr rduhd gSA

	 2.	 vkWVksesVsM iQsf'k;y fjdfXu'ku flLVe O;fDr ls 

esy [kkus vkSj mldh igpku djus ds fy;s rLohjksa 

ds cM+s MsVkcsl dk mi;ksx djrk gSA

	 3.	 MsVkcsl esa laxzghr dSIpj fd;s x, psgjs dks 

fdlh Hkh lkWÝVos;j ds lkFk ,dhÑr ugha fd;k 

tk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	70.	vkbZ,u,l foØkar ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g Hkkjrh; lsuk ds fy;s Lons'kh :i ls fM”kkbu 

,oa fufeZr igyk foekuokgd iksr gSA

	 2.	 bl foeku dks ek>xko MkWd f'kifcYMlZ fyfeVsM 

}kjk cuk;k x;k gSA

	 67.	 What does the term 'Cultural Transition' mean?
	 (a)	 It is the process in which one culture is 

concerned with the effectiveness of another 
culture and the elimination of its values and 
practices.

	 (b)	 It is the process in which a person or group of 
one culture comes into contact with another 
culture and adopts the values and practices 
of another culture while maintaining its 
original identity.

	 (c)	 It is the process in which a person or group of 
one culture comes into contact with another 
culture and, at the same time, abandons its 
original identity and adopts the values and 
practices of another culture.

	 (d)	 It is the process in which the meeting 
of people of two cultures refers to the 
development of a new culture.

	 68.	 Consider the following statements:
	 1.	 The Chuar Rebellion is one of the earliest 

peasant revolts in India. It is also known as 
jungle mahal rebellion.

	 2.	 The Sambalpur rebellion was led by 
Surendra Sai.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 69.	 With reference to "Facial Recognition Technology 

(FRT)", consider the following statements:
	 1.	 Facial Recognition Technology is an 

algorithm-based technology.
	 2.	 The automated facial recognition system 

uses a large database of photos to match and 
identify the person.

	 3.	 The captured face stored in the database 
cannot be integrated with any software.

		  Which of the above statements are correct?		
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 70.	 Consider the following statements with respect to 

INS Vikrant:
	 1.	 It is the first aircraft carrier indigenously 

designed and built for the Indian Army.
	 2.	 The aircraft has been built by Mazagawa 

Dock Shipbuilders Limited.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	71.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ns'k		 vH;kl dk uke
	 1.	 Hkkjr vkSj vkseku	 %	vy utkg
	 2.	 Hkkjr vkSj fo;ruke	 %	foucSDl
	 3.	 Hkkjr vkSj vkWLVsªfy;k	 %	vkWlbaMsDl
	 4.	 Hkkjr vkSj Úk¡l	 %	ozt çgkj

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	72.	Hkkjr vkSj la;qDr jkT; vesfjdk ds chp fuEufyf[kr 
esa ls dkSu&ls ;q¼ vH;kl fd;s tkrs gSa\

	 1.	 Vkbxj Vªk;EiQ vH;kl	
	 2.	 o#.k 'kfDr
	 3.	 jsM ÝySx
	 4.	 dksi bafM;k
	 5.	 ;q¼ vH;kl

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 3] 4 vkSj 5	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	73.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ys[kd		 iqLrd
	 1.	 [kq'koar flag	 %	Vsªu Vw ikfdLrku
	 2.	 lvknr glu eaVks	 %	BaMk xks'r
	 3.	 jkgh eklwe jtk	 %	vk/k xk¡o
	 4.	 ds-,l- nqXxy	 %	can njok”kk

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 4	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	74.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ys[kd		 iqLrd
	 1.	 ch.vkj. vacsMdj	 %	�ikfdLrku ;k Hkkjr 

dk foHkktu
	 2.	 ';kek çlkn eq[kthZ	 %	vosd fganqLrku
	 3.	 jktsaæ çlkn	 %	bafM;k foUl ÚhMe
	 4.	 ySjh dksfyal ,aM	 %	ÚhMe ,V feMukbV	

Mksfefud ySfi,js

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

		  Which of the above statement(s) is/are correct?		
	 (a)	 1  only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 71.	 Consider the following pairs:
	 	 Country		  Name of exercise
	 1.	 India and Oman	 :	 Al Najah
	 2.	 India and Vietnam	 :	 Winbox
	 3.	 India and Australia	 :	 AUSINDEX
	 4.	 India and France	 :	 Vraj Prahar
		  How many of the above pairs are correctly 

matched?		
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 72.	 Which of the following war exercises are 

conducted between India and the United States?
	 1.	 Tiger Triumph exercise	
	 2.	 Varuna shakti
	 3.	 Red Flag
	 4.	 Cope India
	 5.	 Combat drills
		  Select the correct answer using the code given 

below:		
	 (a)	 1, 3, 4 and 5	 (b)	 2 and 4 only
	 (c)	 1, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 73.	 Consider the following pairs:
	 	 Author		  Book
	 1.	 Khushwant Singh	 :	 Train to Pakistan
	 2.	 Saadat Hasan Manto	 :	 Thanda Gosht
	 3.	 Rahi Masoom Raza	 :	 Adha Gaon
	 4.	 K. S. Duggal	 :	 Band Darwaja
		  Which of the above statements are correct?		
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 3, and 4 only	 (d)	 1, 2, 3 and 4
	 74.	 Consider the following pairs:
	 	 Author		  Book
	 1.	 B.R. Ambedkar	 :	 Pakistan ya Bharat 
					    ka Vibhajan
	 2.	 Syama Prasad	 :	 Awake Hindusthan
		  Mookerjee
	 3.	 Rajendra Prasad	 :	 India Wins 
					    Freedom
	 4.	 Larry Collins & 	 :	 Freedom At 
			  Dominique Lapierre		  Midnigh  
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs 
	 (c)	 Only three pairs	 (d)	 All four pairs
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	75.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ?kVuk		  o"kZ

	 1.	 tfy;k¡okyk ckx gR;kdkaM	 %	 1919
	 2.	 vlsacyh esa ce iQsaduk	 % 	1930
	 3.	 pkSjh pkSjk dh ?kVuk	 % 	1921
	 4.	 dkdksjh dkaM	 %	 1925

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr ugha gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe

	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	76.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ys[kd		 xhr

	 1.	 eksgEen bdcky	 %	�lkjs tgk¡ ls vPNk 

fganksLrka gekjk

	 2.	 ek[kuyky prqoZsnh	 %	�fo'ofot;h frjaxk 

I;kjk >aMk Å¡pk jgs 

gekjk

	 3.	 lqHkæk dqekjh pkSgku	 %	>k¡lh dh jkuh

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	77.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ys[kd		 iqLrd

	 1.	 cafde paæ pêðksikè;k;	 %	uhy niZ.k

	 2.	 nhuca/q fe=k	 %	vkuan eB

	 3.	 johaæukFk VSxksj	 %	xhrkatfy

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	78.	ç/kuea=kh jks”kxkj l̀tu dk;ZØe* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d ØsfMV fyaDM lfClMh dk;ZØe gSA

	 2.	 bls [kknh vkSj xzkeks|ksx vk;ksx (KVIC) }kjk 
dk;kZfUor fd;k tkrk gSA

	 3.	 bl ;kstuk dk mn~ns'; [kklrkSj ls Ñf"k vkSj xzkeh.k 

{ks=kksa esa lw{e m|eksa dh LFkkiuk dj çoklh e”knwjksa 

vkSj xzkeh.k ds fy;s jks”kxkj iSnk djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	 75.	 Consider the following pairs:
		      Event		  Year
	 1.	 Jallianwala Bagh massacre	 :	 1919
	 2.	 Throwing bombs	 : 	 1930
		  in the assembly
	 3.	 Chauri Chaura Incident	 :	 1921
	 4.	 Kakori Conspiracy	 :	 1925
		  How many of the above pairs are not correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 76.	 Consider the following pairs:
	 	 Author		  Song
	 1.	 Mohammad Iqbal	 :	 Sare Jahan Se 
					    Achchha 
					    Hindustan HaMara
	 2.	 Makhanlal Chaturvedi	:	 Vijayi Vishwa 
					    Tiranga Pyara 
					    Jhanda Uncha 
					    Rahe Hamara
	 3.	 Subhadra Kumari	 :	 Jhansi Ki Rani
			  Chauhan
		  How many of the above pairs are correctly 

matched?		
	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs
	 77.	 Consider the following pairs:
	 	 Author		  Books 
	 1.	 Bankim Chandra	 :	 Nil Darpan
		  Chattopadhyay
	 2.	 Deenbandhu Mitra	 :	 Anand Math
		  Chattopadhyay
	 3.	 Rabindranath Tagore	 :	 Gitanjali
		  How many of the above pairs are correctly 

matched?		
	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs
	 78.	 Consider the following statements in the context 

of the Pradhan Mantri Rozgar Srijan Program:
	 1.	 It is a credit linked subsidy program.
	 2.	 It is implemented by khadi and village 

industries commission (KVIC).
	 3.	 The objective of this scheme is to create 

employment for migrant laborers and rural 
by setting up micro enterprises, especially in 
agriculture and rural areas.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 and 2 only	
	 (b)	 1 and 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
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	79.	^Hkkjrh; y?kq m|ksx fodkl cSad (SIDBI)* ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls o"kZ 1990 esa ,d laoS/kfud fudk; ds :i 
esa LFkkfir fd;k x;k FkkA

	 2.	 ;g lw{e] y?kq vkSj eè;e m|e (MSME) {ks=k 
ds fodkl esa layXu çeq[k foÙkh; laLFkku gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	80.	gkbMªkstu ds mRiknu vk/kfjr dksfMax ds lanHkZ esa 
fuEufyf[kr ;qXeksa esa ls dkSu&lk lqesfyr ugha gS\

	 (a)	 OgkbV	%	vkS|ksfxd çlaLdj.kksa dk ,d mi&mRikn
	 (b)	 ihyk	 %	 fxzM&fctyh ls lapkfyr fo|qr&vi?kVu
	 (c)	 cSaxuh	%	Hkwjs dks;ys (fyXukbV dk xSlhdj.k)
	 (d)	 gjk	 %	�uohdj.kh; fo|qr }kjk lapkfyr 

fo|qr&vo?kVu

	81.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

		  ns'k		�  gky gh esa lekpkjksa esa gksus 
dk egÙoiw.kZ dkj.k

	 1.	 ykrfo;k	 %	 �lksfo;r dky ds f}rh; fo'o 
ds ,d fo'kky Lekjd dks u"V 
djus dk dk;Z 'kq: fd;k x;k

	 2.	 vkblySaM	 %	 �ekmaV iQkxzkMkfYl;ky esa 
Tokykeq[kh foLiQksV

	 3.	 bjkd	 %	 �ljdkj ds f[kykiQ fojks/ 
çn'kZu

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	 lHkh rhuksa ;qXe

	82.	fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1.	 lÅnh vjc	 2.	tkWMZu
	 3.	 lhfj;k	 4.	rqfdZ;s
	 5.	 dqoSr	 6.	yscuku
	 7.	 bZjku

	 	mi;ZqDr esa ls fdudh lhek,¡ bjkd ds lkFk yxrh gSa\

	 (a)	 dsoy 1] 2] 4 vkSj 6
	 (b)	 dsoy 1] 2] 3] 4] 5 vkSj 7
	 (c)	 dsoy 3] 5] 6 vkSj 7
	 (d)	 1] 2] 3] 4] 5] 6 vkSj 7

	83.	iQkWP;Zwu Xykscy 500 dh lwph ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 vesfjdk dh okyekVZ yxkrkj ukSosa o"kZ igys LFkku 
ij gSA

	 79.	 Consider the following statements with reference 
to 'Small Industries Development Bank of India 
(SIDBI)':

	 1.	 It was established as a constitutional body in 
the year 1990.

	 2.	 It is the premier financial institution engaged 
in the development of micro, small and 
medium enterprises (MSME) sector.

		  Which of the above statements is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 80.	 Which of the following pairs is not matched with 

respect to production based coding of hydrogen?
	 (a)	 White	 :	 A by-product of industrial 
					    processes. 
	 (b)	 Yellow	 :	 Grid-powered electrolysis
	 (c)	 Purple	 :	 Brown coal (gasification of 
					    lignite)
	 (d)	 Green	 :	 Electrolysis driven by 
					    renewable power
	 81.	 Consider the following pairs:
	 	 Country		  Important reason to 
					    be in the news 	

			  lately
	 1.	 Latvia	 :	 The work of destroying 
					    a huge monument of 
					    World II of soviet era 
					    was started
	 2.	 Iceland	 :	 Volcanic eruption at 
					    Mount Fagradalsial
	 3.	 Iraq	 :	 Protests against the 
					    government
		  How many of the above pairs are correctly 

matched?		
	 (a)	 No pair	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs
	 82.	  Consider the following countries:
	 1.	 Saudi Arabia	 2.	 Jordan
	 3.	 Syria	 4.	 Turkey
	 5.	 Kuwait	 6.	 Lebanon
	 7.	 Iran
		  Which of the above shares borders with Iraq?		
	 (a)	 1, 2, 4 and 6 only
	 (b)	 1, 2, 3, 4, 5 and 7 only
	 (c)	 3, 5, 6 and 7 only
	 (d)	 1, 2, 3, 4, 5, 6 and 7
	 83.	 Consider the following statements with reference 

to the Fortune Global 500 list:
	 1.	 Us Walmart is in first place for the ninth 

consecutive year.
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	 2.	 Hkkjrh; daifu;ksa esa fjyk;al baMLVªht fyfeVsM 

igys LFkku ij gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	84.	gky gh esa Hkkjr #i, ds ewY;ßkl ds dkj.kksa esa 

fuEufyf[kr esa ls dkSu&ls 'kkfey fd;s tk ldrs gSa\

	 1.	 fujarj tkjh :l&;wØsu ;q¼ ds dkj.k dPps rsy] 

[kk| rsy] xSl vkfn oLrqvksa dherksa esa o`f¼

	 2.	 vesfjdk esa mPp eqækLiQhfr ds dkj.k ;w,l iQsMjy 

cSad dh dBksj ekSfæd uhfr

	 3.	 fons'kh laLFkkxr fuos'kdksa }kjk fujarj iwath dh 

fudklh

	 4.	 pkyw [kkrk ?kkVk o O;kikj ?kkVs esa o`f¼

	 5.	 mPp eqækLiQhfr

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 4 vkSj 5	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	 1] 2] 3] 4 vkSj 5

	85.	CykWdpsu ij jk"Vªh; j.kuhfr ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bl j.kuhfr dks foKku ,oa çkS|ksfxdh ea=kky; }kjk 

rS;kj dh xbZ gSA

	 2.	 ;g j.kuhfr nLrkos”k jk"Vªh; CykWdpsu IysViQkWeZ 

cukus vkSj çklafxd vuqç;ksxksa ds fodkl ds fy;s 

,d jk"VªO;kih bdksflLVe fodflr djus ds fy;s 

ekxZn'kZu çnku djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	86.	CykWdpsu rduhd ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g ,d lk>k MsVkcsl gS] ftlesa MsVk dks CykWd esa 

lax`ghr fd;k tkrk gS] tks fØIVksxzkiQh ds ekè;e 

ls tqM+s gksrs gSaA

	 2.	 fodsaæhÑr CykWdpsu vifjorZuh; gSa] ftlesa ntZ 

fd;s x, MsVk dks cnyk ugha tk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 2.	 Reliance Industries Limited is at the first 
place among Indian companies.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 84.	 Recently, which of the following can be included 

in the reasons for depreciation of Bharat Rupee?
	 1.	 Prices of commodities such as crude oil, 

edible oil, gas, etc. increase due to the 
ongoing Russia-Ukraine war.

	 2.	 US Federal Bank's tough monetary policy 
due to high inflation in US

	 3.	 Withdrawal of continuous capital by foreign 
institutional investors.

	 4.	 Increase in current account deficit and trade 
deficit

	 5.	 High inflation
		  Select the correct answer using the code given 

below:		
	 (a)	 1, 2, 4 and 5	 (b)	 2 and 3 only
	 (c)	 1, 3 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 85.	 Consider the following statements with reference 

to the National Strategy on Blockchain:
	 1.	 This strategy has been prepared by the 

Ministry of Science and Technology.
	 2.	 This strategy document will provide guidance 

for creating a national blockchain platform 
and developing a nationwide ecosystem for 
developing relevant applications.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 86.	 Consider the following statements in the context 

of blockchain technology:
	 1.	 It is a shared database in which data is 

stored in blocks that are connected through 
cryptography.

	 2.	 Decentralized blockchains are immutable, in 
which the data entered cannot be changed.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	87.	opZqvy çkbosV usVodZ ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g lkoZtfud usVodZ dk mi;ksx djrs le; ,d 
lajf{kr usVodZ dusD'ku LFkkfir djus ds volj 
miyC/ djkrk gSA

	 2.	 ;g baVjusV VªSfiQd dks ,afØIV djrs gSa vkSj 
mi;ksxdrkZ dh vkWuykbu igpku dks fNikrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	88.	Hkkjr esa MkVk lsaVj dh ekax dks c<+kus okys dkjdksa esa 
fuEufyf[kr esa ls dkSu&ls 'kkfey fd;s tk ldrs gSa\

	 1.	 fMftVy bafM;k dks c<+kok nsukA
	 2.	 lsok {ks=k esa cM+s iSekus ij fons'kh fuos'k
	 3.	 MkVk yksdykbts'ku ij ”kksj
	 4.	 dksfoM&19 }kjk çsfjr ekax
	 5.	 csgrj iQkbcj dusfDVfoVh
	 6.	 c<+rk vkbZVh {ks=k
	 7.	 DykmM lsokvksa dks viukus esa o`f¼

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2] 4 vkSj 6
	 (b)	 dsoy 1] 2] 3] 4] 5 vkSj 7
	 (c)	 dsoy 3] 5] 6 vkSj 7
	 (d)	 1] 2] 3] 4] 5] 6 vkSj 7

	89.	dslyj flaMªkse 'kCn fuEufyf[kr esa ls fdls lanfHkZr 
djrk gS\

	 (a)	 vkuqokaf'kd chekjh dks] ftlesa O;fDr dks lk¡l 
ysus esa ijs'kkuh gksrh gSA

	 (b)	 i`Foh dh fuEu Hkw&d{kk esa varfj{k dpjs dk çlkj
	 (c)	 CySd gksy dk lewg
	 (d)	 mi;ZqDr esa ls dksbZ ugha

	90.	xxu;ku ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl ;ku dks ç{ksi.k th,l,yoh ekdZ&III ykWUp 
Oghdy dh lgk;rk ls fd;k tk,xkA

	 2.	 bl ;ku dks i`Foh dh fuEu Hkw&d{kk esa LFkkfir 
fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 87.	 Consider the following statements with reference 
to virtual private networks:

	 1.	 This provides opportunities to establish a 
protected network connection when using a 
public network.

	 2.	 It encrypts internet traffic and hides the user's 
online identity.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 88.	 Which of the following can be included in the 

factors that increase the demand for data centers 
in India?

	 1.	 Promoting Digital India.
	 2.	 Massive foreign investment in services 

sector
	 3.	 Emphasis on data localization
	 4.	 Demand induced by COVID-19
	 5.	 Better fiber connectivity
	 6.	 Growing IT sector
	 7.	 Increase in adoption of cloud services
		  Select the correct answer using the code given 

below:		
	 (a)	 Only 1, 2, 4 and 6 only
	 (b)	 1, 2, 3, 4, 5 and 7 only
	 (c)	 3, 5, 6 and 7 only
	 (d)	 1, 2, 3, 4, 5, 6 and 7
	 89.	 The term Kessler syndrome refers to which of the 

following?
	 (a)	 A genetic disease in which a person has 

trouble breathing.
	 (b)	 Spread of space waste in earth's low earth 

orbit
	 (c)	 A group of black holes
	 (d)	 None of the above
	 90.	 Consider the following statements with respect to 

Gaganyaan:
	 1.	 The launch of this vehicle will be done with 

the help of GSLV Mark-III Launch Vehicle.
	 2.	 This vehicle will be placed in the low earth's 

orbit.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2	
	 (d)	 Neither 1 nor 2
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	91.	flaFksfVd ck;ksykWth ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g vçkÑfrd thoksa ;k dkcZfud v.kqvksa ds 

fuekZ.k ds fy;s vkuqoaf'kd vuqØe.k] laiknu vkSj 

la'kks/u çfØ;k dk mi;ksx djus laca/h foKku 

dks lanfHkZr djrk gS] tks thfor ç.kkfy;ksa esa dk;Z 

dj ldrs gSaA

	 2.	 ;g oSKkfudksa dks LØSp ls Mh,u, ds u, 

vuqØeksa  dks fM”kkbu vkSj la'ysf"kr djus esa 

l{ke cukrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	92.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ,jksfcd /ku mRiknu dh bl fof/ esa /ku ds 

cht dks [ksr rS;kj dj lh/s gh [ksr esa cks fn;k 

tkrk gSA

	 2.	 thjks ctV çkÑfrd [ksrh esa jklk;fud moZjd ;k 

vU; Ñf"k vknku [kjhns ugha cfYd buds fodYiksa 

dks çkÑfrd lzksrksa ls rS;kj fd;k tkrk gSA

	 3.	 'kwU; tqrkbZ dh [ksrh esa ,d fo'ks"k çdkj dh lhM 

fMªy }kjk iQlyksa dh cqokbZ dh tkrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	93.	ve`r dky ds mn~ns';ksa ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 lkoZtfud iwath ds fuos'k ds lkFk futh fuos'k dks 

c<+kok nsukA

	 2.	 fMftVy vFkZO;oLFkk vkSj fiQuVsd] çkS|ksfxdh 

l{ke fodkl] ÅtkZ laØe.k ,oa tyok;q dkjZokbZ 

dks c<+kok nsukA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 91.	 With reference to synthetic biology, consider the 
following statements:

	 1.	 Synthetic biology refers to the science 
of using genetic sequencing, editing, and 
modification to create unnatural organisms 
or organic molecules that can function in 
living systems.

	 2.	 Synthetic biology enables scientists to design 
and synthesise new sequences of DNA from 
scratch.

		  Which of the above statement(s) is/are not 
correct?		

	 (a)	 1 only	

	 (b)	  2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2

	 92.	 Consider the following statements:
	 1.	 In this method of aerobic paddy production, 

paddy seeds are prepared in the field and 
sown directly in the field itself.

	 2.	 In zero budget natural farming, chemical 
fertilizers or other agricultural inputs are not 
purchased, but their options are prepared 
from natural sources.

	 3.	 Crops are sown by a special type of seed drill 
in zero tillage cultivation.

		  Which of the above statements are correct?		
	 (a)		 1 and 2 only	

	 (b)	 1 and 3 only

	 (c)	 2 and 3 only

	 (d)	 1, 2 and 3

	 93.	 Consider the following statements with reference 
to the objectives of Amrit Kaal:

	 1.	 Promoting private investment with 
investment of public capital.

	 2.	 Promote digital economy and fintech, 
technology-enabled development, energy 
transition and climate action.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2
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	94.	ØkmfMax vkmV biQsDV ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 blesa lkoZtfud {ks=k ds c<+rs O;; ls futh {ks=k 

O;; esa deh vkrh gSA

	 2.	 blds çHkko ls cpus ds fy;s ljdkj vkarfjd 

ck”kkj m/kjh ds lkFk ghukFkZ çca/u dh uhfr dks 

Hkh viukuk pkfg;sA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	
	 (d)	 u rks 1 vkSj u gh 2

	95.	ih,e xfr 'kfDr ;kstuk ds mn~ns';ksa ds varxZr 

fuEufyf[kr esa ls dkSu&lk@ls 'kkfey gS@gSa\

	 1.	 volajpuk fodkl ds lHkh i{kksa ds chp leUo;

	 2.	 ykWftfLVDl [kpZ esa deh ykuk

	 3.	 dkxkZs gSaMfyax {kerk dks c<+kuk

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	96.	uhyh vFkZO;oLFkk ds varxZr 'kkfey gS&

	 1.	 v{k; ÅtkZ

	 2.	 leqæh ifjogu

	 3.	 i;ZVu	
	 4.	 vif'k"V çca/u

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 3
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	97.	^ih,e ekbØks ;wfuV~l MsoyiesaV ,aM fjiQkbusal ,tsalh 

fyfeVsM (MUDRA) ;kstuk* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bldk mn~ns'; lw{e m|fe;ksa@O;fDr;ksa dks lh/s 

mèkkj nsuk gSA

	 2.	 bl ;kstuk ds rgr ½.k rhu Jsf.k;ksa& ^f'k'kq*] 

^fd'kksj* vkSj ^r#.k* esa çnku fd;s tkrs gSaA

	 3.	 ;g ykHkkfFkZ;ksa dks laikf'oZd eqDr ½.k çnku 

djrk gSA

	 94.	 Consider the following statements with reference 
to crowding out effect:

	 1.	 In this, increasing public sector expenditure 
reduces private sector expenditure.

	 2.	 To avoid its impact, the government should 
adopt a policy of inferior management along 
with internal market borrowings.

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 95.	 Which of the following is/are included under the 

objectives of PM Gati Shakti Yojana?
	 1.	 Coordination among all stakeholders of 

infrastructure development
	 2.	 Reducing logistics spending
	 3.	 Enhancing cargo handling capacity
		  Select the correct answer using the code given 

below:		
	 (a) 	 1  only	
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
	 96.	 Blue economy is included under –
	 1.	 Renewable energy	
	 2.	 Maritime transport
	 3.	 Tourism
	 4.	 Waste management
		  Select the correct answer using the code given 

below:	
	 (a)	 1, 2 and 3 only
	 (b)	 1 and 2 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4
	 97. 	With reference to 'PM Micro Units Development 

and Refinance Agency Limited (MUDRA) 
Scheme', consider the following statements:

	 1.	 It aims to lend directly to micro entrepreneurs/
individuals.

	 2.	 Loans under the scheme are provided in three 
categories - 'Shishu', 'Kishore' and 'Tarun'.

	 3.	 It provides collateral-free loans to 
beneficiaries.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3

	 98.	^nhun;ky vaR;ksn; ;kstuk&jk"Vªh; xzkeh.k vkthfodk 
fe'ku (DAY-NRLM)* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl ;kstuk dk foÙkiks"k.k] dsaæ vkSj jkT;ksa ds chp 
50%50 ds vuqikr esa fd;k tkrk gSA

	 2.	 efgyk fdlku l'kDrhdj.k ifj;kstuk (DAY-
NRLM) ds rgr ,d mi ;kstuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 99.	gky gh esa lekpkjksa esa jgk ^fuiq.k ekbu* fuEufyf[kr 
esa ls fdlls lacaf/r gS\

	 (a)	 j{kk
	 (b)	 voS/ [kuu
	 (c)	 Hkwry dks;yk [kuu
	 (d)	 rLdjh

	100.	vVy baD;wcs'ku lsaVj (AIC) ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g vVy buksos'ku fe'ku (AIM)] uhfr vk;ksx 
dh ,d igy gSA

	 2.	 bldk mn~ns'; Hkkjr esa LVkVZvi vkSj m|fe;ksa 
ds fy;s lgk;d ikfjfLFkfrdh ra=k dk fuekZ.k 
djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

		  Which of the above statement(s) is/are correct?		
	 (a)	 3 only	
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
	 98.	 With reference to 'Deendayal Antyodaya Yojana-

National Rural Livelihood Mission (DAY-
NRLM)', consider the following statements:

	 1.	 The scheme is funded in the ratio of 50% to 
50% between the Center and the States.

	 2.	 It is a sub-scheme under the Women's 
Farmers Empowerment Project (DAY-
NRLM).

		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 99.	 'Nipun Mine', which has been in news recently, is 

related to which of the following?
	 (a)	 Defense
	 (b)	 Illegal mining
	 (c)	 Surface Coal Mining
	 (d)	 Smuggling
	100.	 With reference to Atal Incubation Center (AIC), 

consider the following statements:
	 1.	 It is an initiative of Atal Innovation Mission 

(AIM), NITI Aayog.
	 2.	  It aims to create a supportive ecosystem for 

startups and entrepreneurs in India.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2


